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int valid(int n, int inputSeq[]):
int replacement (int n, int gondolaSeq[], int replacementSeql[]);
int countReplacement (int n, int inputSeql]);
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C/C++ programs

Pascal programs

function valid(n: longint; inputSeq: array of longint): integer;
function replacement (n: longint; gondolaSeq: array of longint;

var replacementSeq: array of longint) :

longint;

function countReplacement (n: longint; inputSeqg: array of longint) :

longint;
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.(1 £ T < 10) line 1: T, the subtask number your program intends to solve =

Iine 2: n, the length of the input sequence =

line 3: If T is 4, 5, or 6, this line contains gondolaSeq[0], ..., gondolaSeq[n-1]. Otherwise =
. [this line contains inputSeq[0], ..., inputSeqg[n-1
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